



CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO
VERIFY.FTGS.US

Certificate Number : **BC-COO-71215-698d0c731a199**

Date : **February 11, 2026**

| | | |
|---|---|--|
| Seller (Exporter) Cordis US Corp 14201 Northwest 60th Avenue Miami Lakes Florida USA | Transport Type Air | Port of Loading O'Hare International, Chicago |
| | Destination Country India | Destination Port CHHATRAPATI S MAHARAJ, MUMBAI |
| | Export Date ***** | Exporting Carrier ***** |
| Consignee CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E, BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH, India, 421302 India | Import Permit Number ***** | Bill of Lading / AWB 0001006708 |
| | Owner or Agent ***** | Forwarding Agent ***** |
| | Remarks Consignor reference: 0001006708 | |



| Description <i>(May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)</i> | Weight | Country of Origin |
|--|---------------------|---|
| MEDICAL DEVICES =====end of products===== | 633 KG ===== | Mexico, Costa Rica, Ireland ===== |

Name of Authorized Trade Association



Authorized Signature **Farhad Ghorbani Fard**

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
- The information in this certificate and in any documents provided to the Boulder Chamber ("BC") is accurate, true and complete.
- The Applicant undertakes to advise BC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- In consideration for the BC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless BC from any liability in connection with the issuance of this certificate and to indemnify BC in respect of any costs and/or claims made against BC in connection herewith.
- The Applicant is authorized to give the undertakings set out herein.



Commercial Invoice

Invoice Number 0001006708

Invoice Date 10-02-2026

ITN

Exporter CORDIS US CORP
86316364300
14201 NW 60th Avenue
Miami Lakes FL
United States of America 33014
86-3163643

Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD
BLDG NO.A3,UNIT NO.E
BABOSA INDUSTRIAL PARK
SARAVALI VILLAGE, BHIWANDI
THANE, MH 421302
India

End-User

Freight Forwarder

EXPEDITORS - MEM

Carrier

EMIRATES Airlines, ,HAWB: 4320201352,MAWB: 176-25996736

Ship From DC Branch Plant
8631664300
4080 Executive Dr
Southaven, MS 38672
United States of America
863163643

Bill To CORDIS INDIA MEDICAL DEVICES PVT LTD
701.B WING, SUPREME BUSINESS PARK
HIRANANDANI GARDEN
HIRANANDANI GARGEN, POWAI
MUMBAI, MH 400076
India

MOT : Air

Port of Export : O'Hare International, Chicago

Payment Method:

Incoterms & Location : DPU : CHHATRAPATI S MAHARAJ,
MUMBAI

Port of Unlading : CHHATRAPATI S MAHARAJ, MUMBAI

Payment Terms: Net 45 Days

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|----------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 1.000 | 401735M | SI BRITE TIP 7F 35CM STR Lot#: 18534473 Expiration Date: 11/30/2028 | 9018390050 | EAR99 | MX | 442283 05-Feb-2026 | 8 | EA | 849.90 | 6799.20 |
| 2.000 | 4171640L | MAXI LD 7F 16X4 110CM Lot#: 82354151 Expiration Date: 04/30/2027 | 9018390040 | EAR99 | CR | 442283 05-Feb-2026 | 1 | EA | 5010.19 | 5010.19 |
| 3.000 | 451407H2 | CATH TEMPO 4F MP A2 100CM 2SH Lot#: 18537521 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 5 | EA | 717.92 | 3589.60 |
| 4.000 | 451407V0 | CATH TEMPO 4F MP A1 65CM Lot#: 18521404 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 15 | EA | 934.56 | 14018.40 |
| 5.000 | 451414H0 | CATH TEMPO 4F VER 135° 100CM Lot#: 18545120 Expiration Date: 12/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 50 | EA | 373.75 | 18687.50 |
| 6.000 | 451442V0 | CATH TEMPO 4F C1 65CM Lot#: 18533013 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 35 | EA | 934.56 | 32709.60 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Total Invoice Value INR 3303171.62



Print Date 02-10-2026

User Name alberto.valdez@cordis.
com-cordis

Digital Signature

Page Number 1 of 15

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|---|--|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|-----------|---|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 7.000 | 451514H0 | CATH TEMPO 5F VER 135° 100CM Lot#: 18545117 Expiration Date: 12/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 105 | EA | 356.84 | 37468.20 |
| 8.000 | 451524H0 | CATH TEMPO 5F JB 2 100CM Lot#: 18540124 Expiration Date: 12/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 5 | EA | 717.92 | 3589.60 |
| 9.000 | 451531H0 | CATH TEMPO 5F SIM 2 100CM Lot#: 18545113 Expiration Date: 12/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 5 | EA | 947.06 | 4735.30 |
| 10.000 | 48006004X | SABER 6MM4CM 150 Lot#: 82340245 Expiration Date: 05/31/2028 | 9018390040 | EAR99 | CR | 442283 05-Feb-2026 | 1 | EA | 5010.19 | 5010.19 |
| 11.000 | 502521 | DGW .035 FC J3MM 150CM TEF Lot#: 35274713 Expiration Date: 10/31/2028 | 9018390050 | EAR99 | IE | 442283 05-Feb-2026 | 280 | EA | 392.35 | 109858.00 |
| 12.000 | 502524 | DGW .025 FC J3MM 150CM TEF Lot#: 35274241 Expiration Date: 09/30/2028 | 9018390050 | EAR99 | IE | 442283 05-Feb-2026 | 5 | EA | 453.24 | 2266.20 |
| 13.000 | 502526 | DGW .032 FC J3MM 150CM TEF Lot#: 35274150 Expiration Date: 08/31/2028 | 9018390050 | EAR99 | IE | 442283 05-Feb-2026 | 35 | EA | 392.35 | 13732.25 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|---|--|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|---------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 14.000 | 502542 | DGW .035 FC STR 150CM TEF Lot#: 35274788 Expiration Date: 09/30/2028 | 9018390050 | EAR99 | IE | 442283 05-Feb-2026 | 10 | EA | 383.05 | 3830.50 |
| 15.000 | 533640 | CATH F6 ST+ MP A1 100CM Lot#: 18530752 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 10 | EA | 465.32 | 4653.20 |
| 16.000 | 534518T | CATH F5 INF JL 3.5 100CM Lot#: 18535062 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 85 | EA | 463.75 | 39418.75 |
| 17.000 | 534519T | CATH F5 INF JR 3.5 100CM Lot#: 18524190 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 20 | EA | 476.91 | 9538.20 |
| 18.000 | 534519T | CATH F5 INF JR 3.5 100CM Lot#: 18526679 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 85 | EA | 476.91 | 40537.35 |
| 19.000 | 534521T | CATH F5 INF JR 4 100CM Lot#: 18539198 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 40 | EA | 463.75 | 18550.00 |
| 20.000 | 534545T | CATH F5 INF AL I 100CM Lot#: 18535054 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 5 | EA | 470.15 | 2350.75 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|---|--|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|---------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 21.000 | 534550S | CATH F5 INF PIG 110CM 6SH Lot#: 18525912 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 50 | EA | 470.15 | 23507.50 |
| 22.000 | 534622T | CATH F6INF TL JL 5 100CM Lot#: 18532264 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 5 | EA | 489.60 | 2448.00 |
| 23.000 | 534643T | CATH F6INF TL AR II MOD 100CM Lot#: 18535637 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 5 | EA | 509.04 | 2545.20 |
| 24.000 | 534645T | CATH F6INF TL AL I 100CM Lot#: 18535659 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 10 | EA | 498.90 | 4989.00 |
| 25.000 | 534650S | CATH F6INF PIG 110CM 6SH Lot#: 18535113 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 65 | EA | 475.22 | 30889.30 |
| 26.000 | 534676T | CATH F6INF TL 3DRC 100CM Lot#: 18533042 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 33 | EA | 470.15 | 15514.95 |
| 27.000 | 534676T | CATH F6INF TL 3DRC 100CM Lot#: 18535169 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 18 | EA | 470.15 | 8462.70 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

Invoice Number 0001006708 **Invoice Date** 10-02-2026

| | | |
|---|--|-----------------|
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India | End-User |
|---|--|-----------------|

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|----------|---|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 28.000 | 538419 | CATH F4 INF JR 3.5 100CM Lot#: 18517756 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 15 | EA | 465.15 | 6977.25 |
| 29.000 | 5560020L | GC 5F 056 JL 3.5 LBT Lot#: 18523447 Expiration Date: 10/31/2028 | 9018390050 | EAR99 | MX | 442283 05-Feb-2026 | 2 | EA | 1505.50 | 3011.00 |
| 30.000 | 5560040L | GC 5F 056 JL 4 LBT Lot#: 18528304 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 1 | EA | 1505.50 | 1505.50 |
| 31.000 | 5560800L | GC 5F 056 JR 3.5 LBT Lot#: 18510355 Expiration Date: 08/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 13 | EA | 1505.50 | 19571.50 |
| 32.000 | 5560820L | GC 5F 056 JR 4 LBT Lot#: 18530545 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 2 | EA | 1505.50 | 3011.00 |
| 33.000 | 67000000 | 6F .070 JL3 100CM Lot#: 18517838 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 42 | EA | 1505.50 | 63231.00 |
| 34.000 | 67000000 | 6F .070 JL3 100CM Lot#: 18523076 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 6 | EA | 1505.50 | 9033.00 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



Handwritten signature

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|---|--|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|----------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 35.000 | 67000800 | 6F .070 JL5 100CM Lot#: 18534939 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 5 | EA | 1505.50 | 7527.50 |
| 36.000 | 67003400 | 6F .070 AL.75 100CM Lot#: 18534968 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 1 | EA | 1505.50 | 1505.50 |
| 37.000 | 67004000 | 6F .070 AL 2 100CM Lot#: 18534942 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 4 | EA | 1505.50 | 6022.00 |
| 38.000 | 67004000 | 6F .070 AL 2 100CM Lot#: 18537106 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 4 | EA | 1505.50 | 6022.00 |
| 39.000 | 67005200 | 6F .070 XB 3 100CM Lot#: 18532015 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 312 | EA | 1505.50 | 469716.00 |
| 40.000 | 67005500 | 6F .070 XB 3.5 SH 100CM Lot#: 18490962 Expiration Date: 07/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 6 | EA | 1505.50 | 9033.00 |
| 41.000 | 67005600 | 6F .070 XB 4 100CM Lot#: 18525766 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 19 | EA | 1505.50 | 28604.50 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|---|--|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|----------|---|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 42.000 | 67008000 | 6F .070 JR 3.5 100CM Lot#: 18517882 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 333 | EA | 1505.50 | 501331.50 |
| 43.000 | 67008100 | 6F .070 JR 3.5 SH 100CM Lot#: 18518936 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 63 | EA | 1505.50 | 94846.50 |
| 44.000 | 67008200 | 6F .070 JR 4 100CM Lot#: 18535568 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 47 | EA | 1505.50 | 70758.50 |
| 45.000 | 67011000 | 6F .070 AR 1 100CM Lot#: 18514773 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 25 | EA | 1505.50 | 37637.50 |
| 46.000 | 67011200 | 6F .070 AR 2 100CM Lot#: 18512452 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 5 | EA | 1505.50 | 7527.50 |
| 47.000 | 67013000 | 6F .070 3 DRC 100CM Lot#: 18532935 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 25 | EA | 1505.50 | 37637.50 |
| 48.000 | 67021255 | 6F .070 RDC (LARGE) 55CM Lot#: 18500753 Expiration Date: 08/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 4 | EA | 1505.50 | 6022.00 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

Invoice Number 0001006708 **Invoice Date** 10-02-2026

| | | |
|---|--|-----------------|
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India | End-User |
|---|--|-----------------|

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|----------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 49.000 | 77800000 | GC 7F 078 JL 3 Lot#: 18505755 Expiration Date: 08/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 2 | EA | 1505.50 | 3011.00 |
| 50.000 | 77800200 | GC 7F 078 JL 3.5 Lot#: 18523422 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 12 | EA | 1505.50 | 18066.00 |
| 51.000 | 77803600 | GC 7F 078 AL 1 Lot#: 18532044 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 3 | EA | 1505.50 | 4516.50 |
| 52.000 | 77804000 | GC 7F 078 AL 2 Lot#: 18523435 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 1 | EA | 1505.50 | 1505.50 |
| 53.000 | 77805200 | GC 7F 078 XB 3 Lot#: 18537117 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 98 | EA | 1505.50 | 147539.00 |
| 54.000 | 77805400 | GC 7F 078 XB 3.5 Lot#: 18528289 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 76 | EA | 1505.50 | 114418.00 |
| 55.000 | 77806000 | GC 7F 078 XBLAD 3.5 Lot#: 18528320 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 14 | EA | 1505.50 | 21077.00 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|---|--|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|-----------|---|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 56.000 | 77808000 | GC 7F 078 JR 3.5 Lot#: 18523424 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442283 05-Feb-2026 | 21 | EA | 1505.50 | 31615.50 |
| 57.000 | 401735M | SI BRITE TIP 7F 35CM STR Lot#: 18526777 Expiration Date: 10/31/2028 | 9018390050 | EAR99 | MX | 442223 03-Feb-2026 | 10 | EA | 849.90 | 8499.00 |
| 58.000 | 48002010X | SABER 2MM10CM 150 Lot#: 82348727 Expiration Date: 08/31/2028 | 9018390040 | EAR99 | CR | 442223 03-Feb-2026 | 1 | EA | 5428.68 | 5428.68 |
| 59.000 | 48003004R | Saber .035 3x40 135cm SL Lot#: 82349575 Expiration Date: 08/31/2028 | 9018390040 | EAR99 | CR | 442223 03-Feb-2026 | 1 | EA | 5603.63 | 5603.63 |
| 60.000 | 48005004R | Saber .035 5x40 135cm SL Lot#: 82345942 Expiration Date: 07/31/2028 | 9018390040 | EAR99 | CR | 442223 03-Feb-2026 | 1 | EA | 5603.63 | 5603.63 |
| 61.000 | 502453 | DGW .038 FC J3MM 260CM TEF Lot#: 35274200 Expiration Date: 07/31/2028 | 9018390050 | EAR99 | IE | 442223 03-Feb-2026 | 30 | EA | 646.03 | 19380.90 |
| 62.000 | 502521 | DGW .035 FC J3MM 150CM TEF Lot#: 35273787 Expiration Date: 11/30/2028 | 9018390050 | EAR99 | IE | 442223 03-Feb-2026 | 190 | EA | 392.35 | 74546.50 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|--|---|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|---------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 63.000 | 502524 | DGW .025 FC J3MM 150CM TEF Lot#: 35274241 Expiration Date: 09/30/2028 | 9018390050 | EAR99 | IE | 442223 03-Feb-2026 | 10 | EA | 453.24 | 4532.40 |
| 64.000 | 502585 | DGW .035 FC J3MM 175CM TEF Lot#: 35274336 Expiration Date: 10/31/2028 | 9018390050 | EAR99 | IE | 442223 03-Feb-2026 | 50 | EA | 429.56 | 21478.00 |
| 65.000 | 507114J | SGW STAB PLUS .014 180CM J SS Lot#: 35274587 Expiration Date: 09/30/2027 | 9018390050 | EAR99 | IE | 442223 03-Feb-2026 | 5 | EA | 2653.46 | 13267.30 |
| 66.000 | 533640 | CATH F6 ST+ MP A1 100CM Lot#: 18528106 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 10 | EA | 465.32 | 4653.20 |
| 67.000 | 534518T | CATH F5 INF JL 3.5 100CM Lot#: 18532965 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 30 | EA | 463.75 | 13912.50 |
| 68.000 | 534518T | CATH F5 INF JL 3.5 100CM Lot#: 18532966 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 75 | EA | 463.75 | 34781.25 |
| 69.000 | 534519T | CATH F5 INF JR 3.5 100CM Lot#: 18524190 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 10 | EA | 476.91 | 4769.10 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|--|---|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|---------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 70.000 | 534545T | CATH F5 INF AL I 100CM Lot#: 18532942 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 10 | EA | 470.15 | 4701.50 |
| 71.000 | 534550S | CATH F5 INF PIG 110CM 6SH Lot#: 18524223 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 105 | EA | 470.15 | 49365.75 |
| 72.000 | 534618T | CATH F6 INF TL JL 3.5 100 CM Lot#: 18532257 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 55 | EA | 485.37 | 26695.35 |
| 73.000 | 534643T | CATH F6INF TL AR II MOD 100CM Lot#: 18528080 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 10 | EA | 509.04 | 5090.40 |
| 74.000 | 534645T | CATH F6INF TL AL I 100CM Lot#: 18532266 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 35 | EA | 498.90 | 17461.50 |
| 75.000 | 534650S | CATH F6INF PIG 110CM 6SH Lot#: 18532288 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 10 | EA | 475.22 | 4752.20 |
| 76.000 | 534660T | CATH F6INF TL IM 100CM Lot#: 18528084 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 35 | EA | 496.36 | 17372.60 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|---|--|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|----------|---|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 77.000 | 538419 | CATH F4 INF JR 3.5 100CM Lot#: 18517756 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 5 | EA | 465.15 | 2325.75 |
| 78.000 | 5560800L | GC 5F 056 JR 3.5 LBT Lot#: 18510355 Expiration Date: 08/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 2 | EA | 1505.50 | 3011.00 |
| 79.000 | 67004000 | 6F .070 AL 2 100CM Lot#: 18534942 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 3 | EA | 1505.50 | 4516.50 |
| 80.000 | 67005200 | 6F .070 XB 3 100CM Lot#: 18532009 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 15 | EA | 1505.50 | 22582.50 |
| 81.000 | 67005200 | 6F .070 XB 3 100CM Lot#: 18532014 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 128 | EA | 1505.50 | 192704.00 |
| 82.000 | 67008000 | 6F .070 JR 3.5 100CM Lot#: 18517881 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 128 | EA | 1505.50 | 192704.00 |
| 83.000 | 67008100 | 6F .070 JR 3.5 SH 100CM Lot#: 18518936 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 1 | EA | 1505.50 | 1505.50 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|---|--|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|----------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 84.000 | 67011000 | 6F .070 AR 1 100CM Lot#: 18514773 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 30 | EA | 1505.50 | 45165.00 |
| 85.000 | 67013000 | 6F .070 3 DRC 100CM Lot#: 18532935 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 1 | EA | 1505.50 | 1505.50 |
| 86.000 | 77800000 | GC 7F 078 JL 3 Lot#: 18505755 Expiration Date: 08/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 1 | EA | 1505.50 | 1505.50 |
| 87.000 | 77800200 | GC 7F 078 JL 3.5 Lot#: 18523421 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 35 | EA | 1505.50 | 52692.50 |
| 88.000 | 77800300 | GC 7F 078 JL 3.5 SH Lot#: 18484751 Expiration Date: 07/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 4 | EA | 1505.50 | 6022.00 |
| 89.000 | 77803600 | GC 7F 078 AL 1 Lot#: 18530520 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 12 | EA | 1505.50 | 18066.00 |
| 90.000 | 77805200 | GC 7F 078 XB 3 Lot#: 18532042 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 35 | EA | 1505.50 | 52692.50 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|--|---|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|---------|----------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 91.000 | 77805400 | GC 7F 078 XB 3.5 Lot#: 18528289 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 33 | EA | 1505.50 | 49681.50 |
| 92.000 | 77806000 | GC 7F 078 XBLAD 3.5 Lot#: 18520634 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 13 | EA | 1505.50 | 19571.50 |
| 93.000 | 77808000 | GC 7F 078 JR 3.5 Lot#: 18523423 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 24 | EA | 1505.50 | 36132.00 |
| 94.000 | 77827000 | GC 7F 078 MP A-1 Lot#: 18520635 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442223 03-Feb-2026 | 5 | EA | 1505.50 | 7527.50 |
| 95.000 | 507114J | SGW STAB PLUS .014 180CM J SS Lot#: 35274587 Expiration Date: 09/30/2027 | 9018390050 | EAR99 | IE | 442284 05-Feb-2026 | 5 | EA | 2653.46 | 13267.30 |
| 96.000 | 534645T | CATH F6INF TL AL I 100CM Lot#: 18532266 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442284 05-Feb-2026 | 5 | EA | 498.90 | 2494.50 |
| 97.000 | 534660T | CATH F6INF TL IM 100CM Lot#: 18528084 Expiration Date: 10/31/2028 | 9018390040 | EAR99 | MX | 442284 05-Feb-2026 | 5 | EA | 496.36 | 2481.80 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026

Commercial Invoice (continuation)

| | |
|--|---|
| Invoice Number 0001006708 | Invoice Date 10-02-2026 |
| Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643 | Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India |

End-User

| ITEM NO | PART NO | DESCRIPTION | HS | ECN | COO | PURCHASE ORDER NO PO DATE | QUANTITY | UOM | UNIT PRICE | TOTAL PRICE |
|-------------|----------|--|------------|-------|-----|------------------------------|----------|-----|------------|-------------|
| 98.000 | 67003400 | 6F .070 AL.75 100CM Lot#: 18532064 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442284 05-Feb-2026 | 9 | EA | 1505.50 | 13549.50 |
| 99.000 | 67004000 | 6F .070 AL 2 100CM Lot#: 18534942 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442284 05-Feb-2026 | 1 | EA | 1505.50 | 1505.50 |
| 100.00 0 | 67013000 | 6F .070 3 DRC 100CM Lot#: 18532935 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442284 05-Feb-2026 | 1 | EA | 1505.50 | 1505.50 |
| 101.00 0 | 77800200 | GC 7F 078 JL 3.5 Lot#: 18523421 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442284 05-Feb-2026 | 4 | EA | 1505.50 | 6022.00 |
| 102.00 0 | 77800200 | GC 7F 078 JL 3.5 Lot#: 18523422 Expiration Date: 09/30/2028 | 9018390040 | EAR99 | MX | 442284 05-Feb-2026 | 5 | EA | 1505.50 | 7527.50 |
| 103.00 0 | 77800300 | GC 7F 078 JL 3.5 SH Lot#: 18484751 Expiration Date: 07/31/2028 | 9018390040 | EAR99 | MX | 442284 05-Feb-2026 | 3 | EA | 1505.50 | 4516.50 |
| 104.00 0 | 77805200 | GC 7F 078 XB 3 Lot#: 18532042 Expiration Date: 11/30/2028 | 9018390040 | EAR99 | MX | 442284 05-Feb-2026 | 1 | EA | 1505.50 | 1505.50 |

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Total Invoice Value INR 3303171.62



[Handwritten Signature]

BC-C00-71215-698d0c731a199/February 11, 2026